Ubungsbeispiele Teil 2

Beispiel 1 12422 =142 =1+2+2+>-=3>2=32
15 15 15 15 15 15 15 3
- 5, 2 1
Beispiel 2 3—+—=3—-4+0—=3+0+ 3—=3-
14 14 2
Beispiel 3 13411=12412=722
8 4 8 8 8
8-1=7
4 3 f \ 1
Beispiel 4 8-—1-=8_—-1_=7; —> Ausborgen!
N X
Beispiel 5 51_32-4%_32-412 > Ausborgen!
5 5 5 5 5
Beispiel6 61—12=51_12:42_12:3323E - hier musst du 2x ausborgen!
6 6 6 6 6 6 6 3
Beispiel 7 32_13=32 1828 1218
5 4 20 20 20 20 20
Beispiel 8 12-2=92 22 _2_°
8 4 8 8 8 8 8
Beispiel 9 5i—1i=5-_1-=42_12=32%
3 8 24 24 24 24 24



